rm610 NLR 1640n 1640.42 rm610 NLR 1909n 1908.73 mé10 NLR 3204n 3204.07

BLR 15000 NLR 900 km/s

BLR 15000 NLR 900 km/s

WinHW 80D km/s 1636 1645 S/N —0.00801 WinHW 90D km/s 1903 1914 S/N 0519 WinHW 90D km/s 3184 3214 S/N —0.0225
T T T T T
Ine 499(46673) [ [T Fogs 0.1(7.0 Ims 409(44656) [ | Fogs 1.5(2.3)E~18 rms 419(467:80) I [ [Fees -0 (2.5)E
w| thad 448(398270) -0.K70)EL1 Inad 325(37259) SE-18 mad 346(391£77) £0.1(25)E-
2 | | - | J
£ vg 67(—8+157) || | | 503) £ fvg -92(-482113) [ ] | m 417(667:+400) £ | ova 281(2002153) [ | funim se
™ hed 170(1+220) > 161(238£%49) ™ Ihed —233(-111182) . > 417(323£545) & med 371(281£217) >/838(238+5067
o 3 thp —472(212520) | 1 - lop —396(—153+400) | = | - top 669(525+404) “ |
) ) )
& 2 bEgt \ {& £ | /—/
. - — E p F—r1 E p
o NL ] B o o
s © g = g =
o > o > [
z 3 z | 3 z
<o HZ o | HZ o<
n 2 2
Zl [ ‘8_ Tl ‘8_
S =1 =1
s I ik 1 T 11T E
—500 [) 500 -500 [} 500
velocity (km/s) z=1.255430 velocity (km/s) z=1.255430 velocity (km/s) z=1.255430
rmE10 NLR [NeV] 3346.82 rmB10 NLR 3427n 3426.84 rmB10 NLR [OIT] 3728.48
WinHW 900 km/s 3337 3357 S/N —0.221 WinHW 90D km/s 3417 3437 S/N 0.437 w WinHW 900 km/s 5717 5740 S/N 6.74
T T 0 = n
hms 516(475+77) [ [T rms 314(43671) 11 [ ST fms 189(24936) . g6 ZBE(40)E—17
| [nad 485(40675) < | | mad 228(362268) Inad 153(187:£24). 2.73(40)E-17
£ pvg 23(-774185) | | | | £ O[] ovg 74(328143) || 278(635445 £l bva 16(sa32)  fwhm :;Z(gg*ﬁ) J
™ Ined 236(-082238) ™ med —9(54178) > 279(268608) = Ined 5(Bx14) > 437(436+24)
1 1 1
- fop —526(—221+542) | | | . top —85(24+437) | | - . kop —42(—24*303:
53 11 H § T 5[ 1
g = g = g
= g = € =t o
] o 1 o i b
(=] o (=)
z L I = s <
o e = -
1 1T g g o (— -
- B B
24 TR I EET NS AT 5 ; .
2500 [} 500 ~500 [) 500
velocity (km/s) z=1.255430 velocity (km/8) z=1.255430 velocity (km/8) z=1.255430
rm610 NLR 3870n 3869.85 rm610 NLR 3966n 3968.58 610 NLR 4074n 4073.63
WinHW 90D km/s 3858 3881 S/N 3.47 WinHW 900 km/s 3957 3981 S/N 0.464 WinHW 900 km/s 4061 4086
T T T T T
rms 218(321:49) | ogs 4.45(1.16)E—1 hms 353(450+75) [ [ ] —Fogs T.2A)E-18 rms 338(46981) [/ I
« || mad 157(233237) | 4.02(1.16)E-18 | «| [rod 208(380272) . 1.1(2.4)E-18 | | « || mad 305(308477)
=% avg —81(-50+57) | fwhm 311(314247) ~C| vy 34(-432156) | | | fwhm 407(611+508) =% avg —23(-522167) | |
i > 311(311237 i ! > 206(228+684) i
& med —B7(~77+25) | & hned 37(-224221) I med —181(-83+225)
- top —85(—8518) | > kop 301(-66+495) | | | | K top —284(—206+538) | J/
1 1 1
5 2 Byt L L e 5
§ £ g I FTo 7T £ §
N g = ) g =
o o o | | - o
z = [ s <
e z o | HZ o
(=3 (=3
8 ! 8
o T o
a [ [ 111 L[l a
~500 [) 500
velocity (km/s) z=1.255430 velocity (km/8) z=1.255430 velocity (km/s) z=1.255430
rm610 NLR 4103n 4102.89 rmB10 NLR 4342n 4341.68 mMB10 NLR 4364n 4364.44
WinHW 900 km/s 4091 4115 S/N —0.00288 WinHW 900 km/s 4329 4355 S/N 0.311 WinHW 900 km /s 4351 4378 S/N —0.292
T T T T T T
rms 0(469:76) [ [T Fegs 0.00(1.55)E—1 s 228(397+74) [ _Lj_/_/—=nﬁ“- T4(3.50E-18 fms 386(473£82) I [ Fegs —¥/5(5.5)E-1
« || mad ot400473) -0.00(1.55)E—18 | «| fad 158(319:72) f 1.1(3.5)E-18 || «| rod 287(40079) ’
| avg —842(-92183) | ] || fwhm 63(693:+533p =1 dvg 19(752110) | | fwhm 341(482:+311) £ v 283(1002180) [l |
; > 69(237:750 : > 341(250+381) :
o med —B07(~15£225) s ed 26(98:+125) o= Ined 348(140240)
,:p top —B07(~72+544) [ ] | | l:Jﬁ ,:p top 581(302+566) I |
o 2 2 o
E,o I L 1 1% E, 3 5.° L ) | | i
H | T 1 1 I | H H] 1 T |
= g = g =
1 1 1
(=] (=] o
= = s =
w0 3 o 3 o | | —l
2 2
=1 =1
o o | I L
| LU |||2||
~500 [) 500

velocity (km/s) z=1.255430 velocity (km/s) z=1.255430 velocity (km/s) z=1.255430

BLR 15000 NLR 900 km/s

BLR 15000 NLR 900 km/s



